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Places: adjectives

1 Complete the crossword with the correct adjectives.
 1 C

 2 R
 3 O

W
 4 D

 5 E
 6 D

1 Quiet, not stressful

2 Old and interesting

3 Not exciting

4 Warm and damp

5 Beautiful

6 Not old

Easily confused words

2 Choose the correct alternatives.

We  expect  / wait to arrive at midnight.

1 The travel / voyage was rough and stormy, but the 
ship arrived safely.

2 Did you see / look that dolphin jump out of the water? 
It was amazing!

3 We waited / expected at the bus stop for hours.

4 Even though he was a foreigner / stranger from 
Italy, he was well-known in Madrid.

5 I must remind / remember to get a new passport.

6 We missed / lost the last train, so we had to get a 
taxi.

7 They walked all day and managed / achieved to 
reach the hotel before six p.m.

8 The explorers went on a long journey / travel to 
the Arctic.

3 Complete the sentences with the words in the list.

journey hope trip reach stranger
remind travel

We had a very long journey to Rome.

1 He was a complete  . No one knew 
who he was.

2 I  that we can go back there soon.

3 You must  me to pack my alarm 
clock!

4  can help you to see the world in a 
different way.

5 We want to  the top of the mountain 
before sunset.

6 I’m going on a short  to Salamanca 
this weekend.

Making comparisons

4 Complete the sentences with a comparative or 
superlative form.

A horse is stronger than (be / strong) a cat.

A rainforest isn’t as dry as (not be / dry) a desert. 

The Pico de Teide is the highest (be / high) mountain 
in Spain. 

1  Galicia  
(be / wet) Andalucía.

2  England  
(not be / warm) Spain.

3  The Guggenheim  
(be / modern) the Sagrada Familia. 

4   Mount Everest  
(be / high) mountain in the world. 

5   I  (be / tall) you. 
We’re both 1.54 metres.

6   Villages  
(not be / exciting) cities.

too and not … enough

5 Match 1–6 with sentences that have the same meaning 
(A–F).

1 It was too cool.    F

2 It wasn’t dry enough.  

3 It was too modern.  

4 It was too untidy.  

5 It wasn’t quiet enough.  

6 It wasn’t cheap enough.  

A It was too pricey.

B It was too humid.

C It was too crowded.

D It wasn’t neat enough.

E It wasn’t historical enough.

F It wasn’t warm enough.

6 Correct the mistakes in sentences 1–4.

He was to short too reach.

He was too short to reach.

1 It’s too hottest to wear a jumper.

 

2 It wasn’t enough windy to sail the yacht.

 

3 She too slow was to catch the train.

 

4 The boy wasn’t too old enough to travel alone.
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